R B BRSO B H AR

(2021 4EED)

3R RO B

B S S R
) . B4 (J76)
= = L
}\J’E‘\"f%lsﬁ ﬂg?{%ﬁ%%ﬂz I‘—Jﬁ"ﬁ—[‘}\ﬁjﬁﬁklﬁf?‘g%ui'EEI&X‘T/]\A*D%E%I\ 732 13 732 13 0 00
- - HATHEBAR, WER. ZAK%H. ToE%, %K
B R g i RS 85.28 85.28]  0.00

TR e =L, RSB, ks
e s e e | BT RHEIIEIIE, SRS AR ATl SE A
RALTWSIE | & s ol s SR A E T, R 78 ) A A T 60. 00|  60. 00 0. 00

TAE o NGRS RRERIR AR, HEHTRBIT LEE, EERK
R, KEEERS, MRS, RESRRKER

SR ¢ 2 05 ) i ﬁ%%%%%ﬂ@%ﬁ:%ié%?%%ﬁﬁﬁ,@ﬁﬁ%
T B aehd | BB K s o S5 I T, fa 4 U B VAL gL 43.80|  43.80 0. 00
FrRr s T e | W RRTHBI R BOR BT i e BIRRE

P oy o e [

ERE 921. 21| 921.21 0.00

I Ok

bRl SR E, I3 L

HhR2: APt SRE MK AR, ey RIS T

FRRS: M SRR AT IS T 350, AR S A B TR G A (i

Fbga: ARB LR BN R TV RSN S i, A LB B B3 IF 3 TP TSR R A e
HbR5: 24 ri, %R RER, SR REIER AT bR el AT,
S AT TR R A T, 3 SR B 2 T AL RS S LBt o SRR e KT Ak
SRR, How R, B MR RER, B R %A KR,

FHbR6: MLARGETI, AR HALUER, MIRRAIGERRER: 50BN A BRI RIFHRILR 2
Y, AN ANGEINE IR R, RNTHERR ASIRAE 1 RS T & AR, 5eb Sy R
Gi, HEHERL M0V R, IBR(E B R A RIS 5] 5

FURRT: AR ICT WS B R e I a RO T, A e e e U P 6, 5236 AR 5 I 2RO s R
SEHLF O U TEH ], IR SR 5] SAE LSS SR, 40 4 R e ik R
0 et P ARy S N I G ve b 1

— % tR e — BhrE (BEHT

b % =Y =78zt T e
PREEERRN 1 N3 54 A\

PRBE A 55 2 R BGE . HA A0 5 114%

VAR g e Y= O O =60{X

T fE R A b Ak 22 4 XU B 2 & =>80%

4P YERTIEY W R AT IR A =90{X

ERA IR, BAREIRRR| o

EAEIE )

& & uhis AT 4 AL =61k

T N 4 TR =95%

GAEER BB LR =90%

X A = 2 BN A Y 7 R =90%

b= B AT A e A A e R R A 1 R =90%

R AP H AR B 5E R =90%
b B KK G A B AT =80%
ONFETIEA 2B ) R A HER R =98%

ﬁiﬁﬁﬂ\%ﬁﬁﬁﬁéiﬁgﬁ% >95%

7 TAEIRIT 8 R

e AR PRI A LA I SRR =95%

R b R TAF IR 5 = o5%

EEINAEYE AT RN R S AN ] 24 /N




N RCE BRI ARSI 1

=95%

NI H bR e <13.56 /57T
N¥)IB %4 T4 <1.56/570
RERELD S A M B I 55 2 O <6077
SR F WS I T T B Uk 28 e .
H Kﬁhﬂg%éﬁ%é? G <43, 87770
ﬁ%%ﬁgx%iﬁﬁ%%ﬁﬁﬁﬁé R
AP LU — AT B N
s 1E K2 25 46T NERFETE P B AGUE S . ORBERE ) RG]
b %%éﬁé%%ﬁg%ﬁé%ﬁﬁﬁﬁ G
E=LPH [ AR 9 55 W e K S AT
N FRE R FE bR SN R FE G D R BMALRE Fr Tt
B AR SR A R =90%
@SE 25 %o G = B AR b ZEERESEHEWERR =90%
A B B T =>95%




